garvin. WIND DEFLECTOR PAGE 1 OF 2

. JEEP EXPEDITION ROOF RACK
WA WILDERNESS PRODUCTS PART # 29964

PARTS LIST
4 Y
1- WIND DEFLLECTOR ( 52" X 5 1/2")
4- FRONT MOUNTING BRACKETS
4- REAR SUPPORT PLATES
8 - 5/16 X 3/4 BOLTS
16- 5/16 FLLATWASHERS
16 - 5/16 THIN NYLON LOCKNUTS

INSTALLATION INSTRUCTIONS

4 )

1 - ASSEMBLE WIND DEFLECTOR TO FRONT MOUNTING BRACKETS
AS SHOWN ON PAGE 2 AND TIGHTEN HARDWARE.

2 - HOLD WIND DEFLECTOR UP AGAINST FRONT OF ROOF RACK,
INSTALL REAR SUPPORT PLATES AND SLIGHTLY TIGHTEN NUTS,
TO HOLD IN PLACE.

3 - CENTER WIND DEFLECTOR ON ROOF RACK AND TIGHTEN ALL
MOUNTING HARDWARE.

DRAWING # WIND DEFLECTOR # 20864-1 MFG, BY GARVIN INDUSTRIES 316 MILLAR AVE EL CAJON CA. 92020 (619) 440 7415



ga"'\l"‘;o WIND DEFLECTOR PAGE 2 OF 2

.~ JEEP EXPEDITION ROOF RACK
M WILDERNESS PRODUCTS PART # 29964

- GENERAL ASSEMBLY DRAWING

THE CURVED PART
OF THE WIND DEFLECTOR
POINTS TOWARD THE REAR

FRONT MOUNTING
BRACKET

REAR SUPPORT

THE SHEARED ANGLE
OF THE WIND DEFLECTOR
IS THE BOTTOM

ROOF RACK FRONT

5/16 X 3/4 CARRIAGE BOLTS
516 SAE FLAT WASHERS
5/16 THIN NYLON

LOCKNUTS
WIND DEFLECTOR
rROOF RACK FRONT
/ — |
WIND DEFLECTOR SHOULD 1y
BE APPROX EVEN WITH |
THE TOP OF ROOF RACK 14
AND THE BEND FACING —A
TOWARD THE REAR 15— L [ 13
'\ L 5/16 SAE FLAT WASHERS
5/16 THIN NYLON
FRONT MOUNTING/ REAR SUPPORT LOCKNUTS
BRACKET PLATE

DRAWING # WIND DEFLECTOR # 29964 MFG. BY GARVIN INDUSTRIES 316 MILLAR AVE EL CAJON CA. 92020 (619) 440 7415



